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Ideals for irreducible component#ﬂ)f Xpar

I =W a4 —u—1)

* 1 irreducible components of dim¢ = 0, with total 50 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI¥=(@Ww’4+u®+..- —u—1)

(i) Arc colorings

1
a10 = \ 0

1
a1l = U2

—u

ag = \ —u3 +u

—u?+1
a1o = —U4 + 2'LL2

ud —2u

ar= \u’ -3t +u

ut —3u?+1
a1 = —U4 + 2u2

ud —5ub + Tut —2u2 4+ 1
ag = —u8 4 4ub — 4yt

w'” — 10u'® + 39u!® — 74utt + 71u® — 38u7 + 18u® — 4ud + u
ag = —ul” 4+ 9ut® — 31ut? + 50utt — 37w + 1207 — 4ud +u

ud? —17u2 4 — 202 + 1

az = \ —u30 +16u?® + .- — 6u* + 3u?

u?® — 14u® + - — 10U +u
a3 = \ 2T —15u® + -+ 3ud +u

ul” — 26u” + -+ 4ud — 2u
ag = \ u* —27u*T 4+ ... 4+ 24 +u

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u?" +104u® + -+ —4u — 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
‘@ u’® —13u* + - — 53u+3
C2,C3,C7 u50_u49+_._+u_1
Cs
€4 u’? —u® 4 35u — 29
Cs, Cg, C10 u50+u49+_“_u_1
C11
Cg,C12 USO - 9U49 + -+ 279 — 41




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1 Y0 —3y* + .. — 187y +9
C2,C3,C7 y50+57y49++y+1
cs
Ca y*0 — 11y + .. — 11375y + 841

€5, C65 C10 0 — 55yt 4y +1
€11

Co, C12 y°0 4+ 299% + ... 4 16869y + 1681




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + v/=1C)

Cusp shape

u = 0.598747 4 0.5748901

—6.17596 — 9.610511

—8.07514 + 7.892571

0.598747 — 0.5748901

S
I

—6.17596 + 9.610517

—8.07514 — 7.892571

—0.579767 4 0.5682321

S
I

1.46262 + 7.213301

—5.14859 — 9.608861

= —0.579767 — 0.5682321

&
e
|

1.46262 — 7.213301

—5.14859 + 9.608861

u = —0.799600 + 0.1340771 —10.62720 4 4.363531 | —13.8919 —4.25731

u = —0.799600 — 0.1340771 —10.62720 — 4.363531 | —13.8919 + 4.25731

U 0.552380 + 0.5591061 2.72755 — 3.550401 | —1.47416 + 3.940141
u = 0.552380 — 0.5591061 2.72755 4 3.550401 | —1.47416 — 3.940141
u = —0.486892 + 0.5848831 —1.98087 4 1.998881 | —4.50156 — 3.581501
u = —0.486892 — 0.5848831 —1.98087 — 1.998881 | —4.50156 + 3.581501
u=0.619098 4 0.4382971 —8.73729 — 0.86802/ | —11.01246 + 3.924911
u= 0.619098 — 0.4382971 —8.73729 4+ 0.868027 | —11.01246 — 3.924911
u= 0.726133 4 0.1108531 —2.87515 — 2.617991 —12.7473 + 6.47361

U 0.726133 — 0.1108531 —2.87515 4+ 2.617991 —12.7473 — 6.47361

u = 0.418082 + 0.5697161 3.12275 — 0.329581 0.04870 + 3.380321
u = 0.418082 — 0.5697161 3.12275 4 0.329581 0.04870 — 3.380321
u = 0.359261 + 0.6082391 —5.47474 4 5.577081 | —6.11056 — 1.825241
u = 0.359261 — 0.6082391 —5.47474 — 5.577081 | —6.11056 + 1.825241
u = —0.528151 4 0.4668007 —0.81474 4 1.589431 | —9.19847 — 3.599431
u = —0.528151 — 0.4668001 —0.81474 — 1.589431 | —9.19847 + 3.599431
u = —0.381969 + 0.5891991 2.04130 — 3.251181 | —3.15587 + 3.308201

u = —0.381969 — 0.5891991

2.04130 + 3.251181

—3.15587 — 3.308201

= —0.607541

—1.09411

—8.24150

U
u = —1.43710 + 0.114607 —11.13960 — 3.097471 0
u = —1.43710 — 0.114601 —11.13960 +- 3.097471 0
u= 146424+ 0.123601 —3.87403 + 0.837021 0
u = 1.46424 — 0.123601 —3.87403 — 0.837021 0

u = 0.167534 4 0.4936681

—7.46565 — 2.288961

—6.43563 + 2.795781

u= 0.167534 — 0.4936681

—7.46565 + 2.288961

—6.43563 — 2.795781

u = —1.48768 + 0.137101

—3.08950 + 2.748651

0




Solutions to I} V—=1(vol + /=1CS) Cusp shape
u = —1.48768 — 0.137101 —3.08950 — 2.748651 0
u= 1.50999 + 0.162131 —8.54473 — 4.645321 0
uw=1.50999 — 0.162131 —8.54473 4 4.645321 0
u = 1.54653 + 0.137091 —7.79253 — 3.773071 0
u = 1.54653 — 0.137091 —7.79253 4 3.773071 0
u = —1.54628 + 0.163691 —4.26325 4 6.157861 0
u = —1.54628 — 0.163697 —4.26325 — 6.157861 0
u= 155577+ 0.169941 —5.65936 — 9.900517 0
uw= 1.55577 —0.169941 —5.65936 4 9.900511 0
u= 1.56928 —8.54940 0
u = —1.56295 + 0.173611 —13.3924 + 12.34971 0
u = —1.56295 — 0.173611 —13.3924 — 12.34971 0
u = —1.56817 + 0.128591 —16.0981 + 2.94771 0
u = —1.56817 — 0.128591 —16.0981 — 2.94771 0
u = —1.58508 + 0.020521 —10.70660 + 3.038251 0
u = —1.58508 — 0.020521 —10.70660 — 3.038251 0
uw=1.60009 + 0.025951 —18.7534 — 4.88441 0
uw = 1.60009 — 0.025951 —18.7534 + 4.88441 0

u = —0.135075 4 0.3585121

—0.176711 4 1.0514701

—3.23682 — 6.196681

u = —0.135075 — 0.3585121

—0.176711 — 1.0514707

—3.23682 + 6.196681




II. u-Polynomials

Crossings u-Polynomials at each crossing
€1 u?® —13u® 4 -+ — 53u + 3
C2,C3,Cr u50_u49+...+u—1
Cs8
¢4 u?? —ut? 4+ 35u — 29
Cs5,Cg, C10 u50—|—u49—0—---—U—1
1
cg, C12 uP? —9ut + -+ 279u — 41




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1 Y0 — 3y . — 18Ty +9
C2,C3,C7 y50+57y49++y—|—1
Cs8
Ca v — 119% + ... — 11375y + 841
Cs, Cg, C10 y50_55y49+“_+y+1
1
Co, C12 y°0 + 2991 + ... + 16869y + 1681




